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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 2017 & frg Ao fAaE F frew R & e a8 frem .
== Question ID : 9864492363
ERR ST §IHT?
‘Which Malayalam actress won the National Film Award for the film ‘Minnaminungu’ in
2017?

Status : Answered
Chosen Option :2

Ans =
x o HHT dTel

Amala Paul
x , FHCT FAlGCH
Mamta Mohandas
v ENC e
Surabhi Lakshmi

IMNTART
Gopika

K4

Q.2 e e, fogier o 2017 & 7% @M W 9od R o1, e dw @
- * Question ID : 9864492335

FE
. . . . Status : Answered
Roshan Lal, who won the Guru Dronacharya Award for 2017, is associated with which

stream of sport? Chosen Option : 3

Ans =)
X192
Football

2. 'a:;%ﬁ
Wrestling
glehr

| Hockey
JretraTet

Volleyball

x

X3

g

Q.3
Question ID : 9864494727
Status : Answered
Chosen Option : 4




Ans

&l

[
LES,

Select the option that represents the number of squares in the given figure.

[
(]

X115
X214
X313
V17

Q.4

Ans

ST 99 9T e & gU v Wi e A wla @ agEe, PR 3
T

TR o Fa H 99or &1, & S FUged S M2 &, 3¢ FeT avel
3.00 5= a% ¥ 200 FAT HTAT 2

HelHTA:

2

1. TerEeE & g sfeErd
2. mefr feanfiet &t T 200 F#T F=w g

Consider the given statement and decide which of the given assumptions is (are) implicit in
the statement.

Statement:

The class teacher announced in the class that those who are going to the museum should
deposit T 200 by tomorrow 3 pm.

Assumptions:

1. It is mandatory to go to the museum.
2. All students should deposit T 200.

v 7 ar AT 1 3R 7 & 2 g 7
| Neither assumption 1 nor 2 is implicit.

2 gt AT 1 3k 2 TRk

| Both assumptions 1 and 2 are implicit.

) Faer 3 1 AT

| Only assumption 1 is implicit.

4aa—c|?~r34§m1?r2ﬁ1%ﬁ%l

Only assumption 2 is implicit.

x

x

x

Question ID : 9864495118
Status : Answered
Chosen Option :1

Q.5

Question ID : 9864494716
Status : Answered
Chosen Option : 2




Fla @ aro iafART 2

Y
HE$ & TH 3l The o e dafU a¥ & el B 150% T & 3
RO

1. sftrs FrF & FNOT B THA Tae TE £

2. 30 off o & Ter FY AT & wehel B

Consider the given statement to be true and decide which of the following assumptions
is/are implicit.

Statement:
A leading school in Mumbai has increased its fees by 150% from the next academic year.

Assumptions:
1. Students may change school due to more fees.
2. The school may still have the same demand among the students.

v &)
Ir af gROT 1 IT UROT 2 AHafART gl
Either assumption 1 or 2 is implicit.

K2
gl gROMT 1 3R 2 3dfied ¢
Both assumptions 1 and 2 are implicit.

3_mﬂm1 afatea gl

Only assumption 1 is implicit.

| had URoT 2 g safafed &

Only assumption 2 is implicit.

x

x

Q.6

Ans

T 71T T W e & 3t oot o, @ e 9w @ @ e @ Question ID - 9864495068
ST A T @ AT T E e
Status : Answered
Chosen Option : 3
T
e 7 ¢ Tl faggrew, wor am Tifta deet @ e o=
g = F
FETE:

1. & Regert & Ree wea FEaEr & o i)
2. O Taezremt & §9g & & TR

Consider the given statement to be true and decide which of the given courses of action
logically follow(s) from the statement.

Statement:

Many private schools in Bangalore charge more fees than the government-prescribed
limits.

Course of Action:

1. Strict action should be taken against such schools.
2. Such schools should be shut down.

x1_aa—c|?~r2 e gl
Only 2 follows.
X, T 1A T &2 wE R

Neither 1 nor 2 follows.



| e 1 W R
Only 1 follows.

x4_13ﬂ¢2aﬁﬂ€r%|

Both 1 and 2 follow.

v
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Q.7

0.296 + 2.96 + 29.6 + 296 =7
0296 +296 +29.6 +296="7

Question ID : 9864494570
Status : Answered

Ans x 1. 328 756 Chosen Option : 4
< 2. 327.756
< 3. 327.856
v 4 328.856

Q.8 araer EUT & ThaT S e 30 TR § | wHETS TEa S & AR,

Ans

FHE Piehel oieTE ol TohT THE SHerd T =il &

The radius of curvature of a concave mirror is 30 cm. Following Cartesian Sign
Convention, its focal length is expressed as:

X +30 TEHRET
+ 30 cm
x2_—3nﬁa:fﬁa

— 30 cm

x3.+15ﬂﬁm
+15cm

e 15 §aAeT

—15cm

Question ID : 9864493203
Status : Answered
Chosen Option :1

Q.9

Ans

a1z A fRET @eir SR F e 4 9 # oW 3T § FEf 929 B+ @y
oot og 30 3 U & o} 34T 2 9B A & U HE e & geEd 9=T B
Fr o g fear ST § A S A R A g e gAg e

Pipe A can fill an empty cistern in 4 hours while along with Pipe B it can fill it up in 3
hours. Only Pipe A is turned on for an hour after which Pipe B is also turned on. How
much total time will it take to fill up the cistern?

3 hours 15 minutes
.3 ue 20 fiae
3 hours 20 minutes

4_39'7} 25 fee

3 hours 25 minutes

x

x

Question ID : 9864492711
Status : Not Answered
Chosen Option : --

Q10 Frerait # JHSTUT Seree B FfHAT Y FAT FET AT §7

Ans

‘What is the process of production of ovum in the females called?

W

Oogenesis

X2 Sl

Menarche

Question ID : 9864495007
Status : Answered
Chosen Option : 3




ETEIIC]
X 2
Menstruation

H2MT

Adolescence

< 4
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Q11 e deg & A & 159 3R 22 =g § Eh FerAe W = B

There are 15 protons and 22 neutrons in the nucleus of an element. What is its mass
number?

Ans  of 137
X215
X3 7
X 422

Question ID : 9864494678
Status : Answered
Chosen Option : 1

Q.12 gfy fauw aw 31 W forr eafd o S Agfeg 98 AT &t 58F Ot & W
FAT WA I8 27

If the frequency of a sound wave of given velocity is increased, how will it affect its
wavelength?

T e o S Tt wem
The wavelength will not be affected.
| FEEr o I A g g
Its wavelength will increase.
v ST JEET &5 H FAT e

Its wave length will decrease.

x

< 4
TET 3T F wEe w9 F IhE 3w @ wEhn

Wavelength will keep increasing and decreasing alternately.

Question ID : 9864494974
Status : Answered
Chosen Option :2

Q.13 37 fwed F =997 FT A T FHwwT #§ wed feg (?) & waenfg
HET

(.ar+022 _

(0.3-0.2)2

Select the option that can replace the question mark (?) in the following equation.

(0.3 +0.20°
(03-022

Ans x1_
v 3

X 3
X 4

[T TR R I S T I R

Question ID : 9864494781
Status : Not Answered
Chosen Option : --

Q.14 Tfaf@a # ¥ 9 91 fFe Ry v 77 % 78 adur ufafds @1 gofar &,
T YT F g F AT S §T W @ S 77

POSITIVE

Select the option that depicts the correct mirror image of the given word when the mirror
is placed horizontally below the word.

POSITIVE

Ars o1 BORILIAE
* 2 EVITISOP

Question ID : 9864494188
Status : Answered
Chosen Option :1




X s HVITI2Ob
X 4 GVILISOb
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1S e e AN A W HiT § & F T I3 g 2

Ans

Which of these two water bodies are connected by the Suez Canal?
w P AT HIF 3T o EER

Mediterranean Sea and Red Sea

xzagwmaﬂ?mw

Mediterranean Sea and Black Sea
X o T TR s @ IR
Black Sea and Red Sea
x4 FeITd AFTHRR AT el HgERR

Pacific Ocean and Atlantic Ocean

Question ID : 9864494496
Status : Answered
Chosen Option : 1

QI Xty wizarsgrr B8 ik 2 e Faw & ¥ ofy

Ans

2t F TE WY W ST, @ & oW F g e @R w2

Two pipes X and Y can individually fill a tank in 48 and 72 minutes, respectively. If they
are opened simultaneously, how long will it take for the tank to fill?

x1.24ﬁm'cr

24 minutes

2 28.8 f&=e

28.8 minutes

x3_60ﬁ-‘|?ﬁ:

60 minutes

X 4 39.4 fA=e

39.4 minutes

Question ID : 9864494602
Status : Answered
Chosen Option : 2

Q.17 faw 7T Fedeat & 9 A L 7o H 77 a7 w1 F #iT T (@) Geww

Ans

FEdeHl F FTHENT TT F HTIT (FIA &) F

T
X w93 §| $© U5 Wb §

s
1. 3o Wl 95 &
2. 75 93 % £

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the given statements.

Statement:
All fiuits are trees. Some trees are birds.

Conclusions:
1. Some birds are trees.
2. Some trees are fruits.

x1ma’r1m234§murm%|

Either conclusion 1 or 2 follows.

| e TR 2 SrEoT e g

Only conclusion 2 follows.

x

Question ID : 9864495034
Status : Answered
Chosen Option : 2




x

Only conclusion 1 follows.
|1 3R 2 2t sregeor w1 E

Both conclusions 1 and 2 follow.

v

s 1 o www.gglvtjobsalert.ln

Q.18 T YERMEr Tk 550 HieT w9 T @ 36 Tehs i 9N A & | I 7@ 70
raidlier i o &1 71T & oo @ off o e fr SErg fhaer off 2

A train crosses a 550 m long platform in 36 seconds. How long was the train if it was
travelling at the speed of 70 ki/h?

", 525 #;eX
525 m

x , 140 HIT
140 m

x 5 160 Fex
160 m

v 150 #eX
150 m

Question ID : 9864494540
Status : Answered
Chosen Option : 4

Q19 37 R &1 97 F1 o e Ot @ gafog a8 &

e
= 1 1L 1L
A B C D
Select the figure that does not belong in the following series.

EHIEE
A B C D
Ans X1 A
X 2D
V3B
X4C

Question ID : 9864494778
Status : Answered
Chosen Option : 2

Q.20

Question ID : 9864495105
Status : Answered
Chosen Option : 2




far v R &, fyeior, 39 @l W fafafte atar § s O A # R,
T 3T T T AfalEeT #=Rar § o 9 W, AR goa, 3 s @
TR Far &, B9 aw =

o= arlt & o/ =X AR F@T §, WY AT FW AE, 3 e TE a2

In the given diagram, the triangle represents the set of people who possess a car; the
square represents the set of people who possess a house; and the circle represents the set
of people who possess gold.

What is the total number of people who possess a house and gold but do not have a car?

www.govtjobsalert.in

Ans X1 \/+V
vy
2 3 VI
<4 V+V
Q.21 A" FeFH F1 3eaga I8 sHT &1 ¢ F g4 @l ve & 9oy & "@efg

¥ Sifs e F @ # e gr &

The study of human evolution indicates that all of us belong to a single species that

evolved in:

AT
America
qf9as i
West Asia
e uisrT
Central Asia
3TVRTeRT
Africa

b !

< 2

K3

v 2

Question ID : 9864493278
Status : Answered
Chosen Option : 3

Q.22 ZfE; woh a1 T et T[T T T A, A FHHY At Fa:

Ans

If the momentum of a body is tripled, its KE will:

v HeT AT T At [T g S|
1.

become nine times its original value
X2 afEfda et
remain the same
. HeT AT T Al AT 21 S|
| become three times its original value
) Hel AT T T T[T &1 A=

x

x

become six times its original value

Question ID : 9864494952
Status : Answered
Chosen Option : 4




Q.23 2 16,870 # wF #F 99 &, T R ETWM Mgp ale rt In Question ID : 9864494598
aif 7 i (v gywee o qoiitee) fraem geme? Status : Answered

By selling a table for ¥ 16,870, a shopkeeper suffers a loss of T 1,080. His loss percentage Chosen Option : 4
(rounded off to one decimal place) is:

Ans X 1. 6.4%
< 26.1%
V'3 6.0%
X 4 6.2%

Q.24 o & Tart & FERar & S5 TH I hr 9T F S s g I v F
AT & HEAIeA® A J97 & 896 & SEdeA® AT & 1/6 & auay g,
A @9t 1 T s B wns e 37
The sum of the lengths of the edges of a cube is equal to half the perimeter of a square. If

Question ID : 9864494544
Status : Not Answered
Chosen Option : --

the numerical value of the volume of the cube is equal to one-sixth of the numerical value
of the area of the square, then the length of one side of the square is:

x, 31:5 s
31.5 units

v, 36
36 units

x5 27
27 units

x ;18 g
18 units

Ans

Q.25 G 2017 F HRT & TG FAAMAT ICATANT HFATT H HA fHT T
# fpar /T am
‘Which state organised India’s first Tribal Entrepreneurship Summit in November 20172 Status : Answered

Question ID : 9864492238

Ans Chosen Option :2
X ;. FTSe
Odisha
BIGIRLE
Chhattisgarh

X3 ANES
Jharkhand
qfegd €9

X 4
West Bengal

W2

Q.26 7z 7= gr o PR Rt & Ry ow 3, v a7 sgfer & smeor

farar = " B Status : Answered

Chosen Option : 3

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

Ans x1_14
X286



v 310
xX48
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Q27 75 3T 405 & &= i 37T Hr TOT FEATC TRt €2

How many three digit whole numbers are there between 75 and 405?

Ans o\ 304

Question ID
Status
Chosen Option

19864494809
:Not Answered

X 2 306
W 3 305
x 4 307
Q.28 we Were ¥ Tedw Ui SO FH AT 116° ¥ O HoT & AT Faww 27
° Question ID : 9864494845
Five angles of a hexagon measure 116° each. What is the measure of the remaining angle?
A . Status : Answered
ns x 1152 Chosen Option : 3
< 2.126°
v 3.140°
< 4116°
Q.29 37 AT AR ToTUY HT JTH T90 fongle TUE Wafwa e &
¥ - Question ID : 9864494495
HET ~arareder & w9 & off Fr B 3
2 Status : Not Answered

Name the only US president who also served as the Chief Justice of the US Supreme
Court.

Ans ‘,1_ﬁ§ﬁ§am¢iﬁﬁé'znﬁr
William Howard Taft
x e & Saaa
Lyndon B. Johnson
, e = e
John Quincy Adams
?<4}Haﬂ'éai
Zachary Taylor

x

Chosen Option :

Q.30 v = TERT O AT I ST & 9Bl $O FAG dF disal g dfh
T ST U & TANT o H A FL

A high jumper runs for a while before taking a high jump so that the inertia of
helps him take the long jump.

Ans «1. TI.E_T

motion

fear
direction
< 3.

rest

X 4
shape

< 2

Question ID
Status
Chosen Option

19864494669
: Answered
1

Q.31 2 ==t & Roafy af 4% TR s # @ W, AT T 3,675 W AT
=1t faber ghm 2

The interest earned on ¥ 3,675 at the rate of 4% simple interest per annum for 2 years will
be?

Ans X 1. F 28050

Question ID
Status
Chosen Option

19864494517
:Answered
&3




< 2. 288.50
W3 T 204
X 4T 202
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Qﬂﬁmﬁﬁaﬂnwmmgﬁqy‘r%?

Ans

)  <eNf=reT 9I3sT T I drelm T3St ¢l

l) §@NH, T @l Temw H el T & gt & 2
1) aST STeT &1 9O (pH) 7% &3 1 gl

IV) 31 I &1 WU (pH) 5.6 F 09 g1 gl

Which of the following statements is INCORRECT?

T) Bleaching powder is a pale yellow powder
II) Dry NH; gas turns red litmus blue

IIT) The pH of rainwater is nearly 7

IV) The pH of acid rain is nearly 5.6

DI ARIV)
D), ) and IV)
2 1), ) T 1l

I), II) and III)
Fad 1)

Only 1)
4.3qﬂa\-—rmmmm%|

All of the above statements are correct

x

W 3

x

Question ID : 9864494640
Status : Answered
Chosen Option : 4

Q.33 gwar 273965 & 3 & TET A AR 3fhg A9 & 39T Gaer 87
What is the difference between the place value and face value of 3 in 273965?

Ans

# 13962
# 22035
V32997
x40

Question ID : 9864494853
Status : Answered
Chosen Option : 3

Q.34

Question ID : 9864495088
Status : Answered
Chosen Option :2
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O O
<~ O
Ol <> <>
O
< e 0 O
@) <> ~
A B C D

Select the figure that will come next in the following series.

o o O] O
Ol <> <>
O
< |l 0 O
O <> =
A B C D
Ans X1 A
v2D
X3C
X 4B

Q.35 gl # dfeas =7 F =0 oNa @ F=eo g0 BT & IR0 F w5 H
o smETT g AT

‘Who launched ‘Shramdaan movement’ as part of Swachh Bharat and Swachh Puducherry .
initiative at Seliamedu village in Puducherry? Chosen Option : 3

Question ID : 9864494447
Status : Answered

Ans TSl a@eT
F !

Rajiv Bansal
2 T D
Nitish Kumar
JeRTl SATI=HT
Prakash Javdekar
AffFeae TR 3T 96r

Lt Governor Kiran Bedi

x

< 3.

o 4

Q.36 AN AT fRbe T T 2017 F R B T SR @ IR ek
e Bt 75 3¥EsT ¥ w9 # gew G o

‘Which male cricketer has been appointed as the UNICEF and Cricket for Good
ambassador for the ICC Women's Cricket World Cup 2017? Chosen Option : 3

Question ID : 9864492429
Status : Answered

Ans =
x 1 Folled ollds
Clive Lloyd

V2 AT T
Brian Lara
X3 3

Sachin Tendulkar



N T
Shane Warne

X 4

www.govtjobsalert.in

Q.37 v% F7g # T A H T W W §1 o7 78 F gemAE 2 & 15 I

HT Fsmr 2 F 4 T §, 38 T SHH T9 4 82

A body has a weight W on the surface of Earth. What is its weight on a planet whose mass
is 15 times that of Earth and a radius that is 4 times that of the earth?

Al 16
ns «1—W
15

15
X 2. :W
K3 IT:W
X 4 %W

Question ID : 9864494630
Status : Answered
Chosen Option : 2

Q.38 Qrafaf@a & ¥ Aifa 3T & 3ureTsT Hia &2

Ans

Who among the following is the vice-chairman of NITI Aayog?
1 3Rfde geaTiaT
Arvind Panagariya
ki
| Rajiv Kumar
x 5 G HG
Narendra Modi

K4
Ajit Tyagi

v

Question ID : 9864494484
Status : Answered
Chosen Option : 2

Q39 QP gEarst § ¥ i @ g=r 12 ¥ [ensw 2

Ans

Which of the following numbers is divisible by 12?
< 173412
~ 293412
x 363412
v 183412

Question ID : 9864492945
Status : Answered
Chosen Option : 4

Q.40 Torelt THEgE= & T = B oS 17 FEER ¥ AR sEe v Rt 16

Ans

Héufer wwar &1 gEt R & F= AT F=

The length of one side of a rhombus is 17 cm and one of the diagonals was 16 cm. Find the
length of the other diagonal.

x 1 16 WY

16 cm

v o 30 T

30 cm

x 5 32 AT
32 cm

x 4. 20 TEHAR

20 cm

Question ID : 9864493016
Status : Answered
Chosen Option :1

Q.41

Question ID : 9864495043
Status : Answered




reEr & BT T AT F IR W\%Q%V%qbﬁalert'”lhosen Option : 4

e : g o A
Select the missing word based on the given related pair of words.
Butter : Milk :: Book :

Ans CreCa

F !
Author

earT
2, Chapter
xs T
Printing
EapiE)
' Paper

x

v

Q.42 CEIS ] T e T o= TIT TSI
3° T T ah_& S " | Question ID : 9864494725

Status : Answered
Chosen Option : 4

SRR NECEE S

AR AETIR

A B C D
Select the option that will come next in the following figure series.

R NEERE SR

AR SRR

A B C D

Ans X1D
X2B
XA
v:C

Q.43
Question ID : 9864495044

Status : Answered

Chosen Option : 2
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=y wiaar 37

geaT =y

SN

IStz

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

Answer Figures

SistelE

Ans «" 1B
X2 A
XsacC
X 4D
QMM et AR R IR AT T F T F T ForF=aq .
Question ID : 9864494759
Fe AT T T F
) Status : Answered
Fm Afger T ws E;'E“;mﬁmﬂ%? Chosen Option : 4
HU:
1. AR T ¥ B gt @ Rl e Y ager A e
2. el At & Afgerd et & R 3
Read the following question and decide which of the given statements is/are sufficient.
Are women emotionally stronger than men?
Statements:
1. Women think men’s thinking cannot change any problem.
2. Women are equal to men in all issues.
Ans x 1.
3R 2 TATeT § FERE 99 FH 3o 3 ¥ o0 e 1 gEeg A9 E
2 alone is sufficient while 1 alone is not sufficient to answer the question.
X2
9T T 3ol &7 & Tore 1 3t 2 3=t et 93T g
Both 1 and 2 together are sufficient to answer the question.
X3
3ehel 1 THTed & e 99 % Jcad oo & ToT 3ot 2 e =gl 2l
1 alone is sufficient while 2 alone is not sufficient to answer the question.
v
99T F 3cal 37 & T T ar 1, 7 & 2 TIeT 2
Neither 1 nor 2 is sufficient to answer the question.
Q.45 sreg ACCUMUATES #, BT F ¥ @y, drEt Fr =t F g,
I‘E" uﬁ; il . W . . Question ID : 9864494779
IS F TS & WY, TAS F ST F 7y i 3w gmd F any g Status - A p
T ¥ 3 AT T ST SR FITE G a.us. nswere
In the word ACCUMUATES, if the 1st letter is interchanged with the 2nd, 3rd letter with Chosen Option :2
the 4th, 5th with the 6th, 7th with the 8th and 9th with the 10th, then the 6th letter from the
left will be:
Ans

XU
VoM




X3 A
XL

www.govtjobsalert.in

Q.46 of & 1 s@em F E@Y A GO H FeT HT fGAT AT, @ FC F AT 07 H;
A€ AT UTEET 92 FHiT @ e

9$YX8NEOLBUJZT@1QFD%

If the second half of the given series is reversed, then what will be the fifth term to the left
of the ninth term from the right?

9SYXSN6OLBUIZT@1QFD%
Ans x 1. T
X220
V38
X4Q

Question ID : 9864495013
Status : Answered
Chosen Option : 3

Q.47 g & & W FEET TR Fel o dsfiew whw N Ry @ w §is
wEST & ¥ 7 g B &

Which international tyre company has recently appointed ace badminton queen PV Sindhu
as their brand ambassador?

Ans ﬁGRE’IFI'
v
Bridgestone
Flecleeaor
X2
Continental

X 3 :
Pirelli

X 4 e
Michelin

Question ID : 9864492323
Status : Answered
Chosen Option : 3

Q48 37 R & 999 H{ A o TAF F FEfOT @ 2

D | &

A B C D

Select the figure that does NOT belong in the following group.

D | A

Ans X1B
X2 A
XD
viC

Question ID : 9864494715
Status : Answered
Chosen Option : 3

Q.49

Question ID : 9864493242




zAA ¥ A @1 Rufas w=r &
‘Which of the following is NOT an example of potential energy?

Ans T g3 A
)

Running water

, T &y 7 wfEa fear mar se
Water stored in a dam

= i ST

| A compressed spring

Ueh IaT 4T gulEr

A raised hammer

x

x

p 8

WEV%\T/'TWég%\éthb alert.in

Status :
Chosen Option :

Answered
2

Q.50 12, 18, 20 3t 25 & ot faenfoe @y el o 31t B T oI FEw B

T i Question ID : 9864494850
What is the least number consisting of five digits that is exactly divisible by 12, 18, 20 and Status : Answered
257 Chosen Option : 3
Ans X 1.10680
# 2.10000
+ 210800
< 411250
Q.51 5o =g o 7 g7 F T@M A1 8, A FEELS AR (1) HFEES (Fe, 0;) HT T ol ]
. . Question ID : 9864494961
57X ToT Y TN ST HeIE T ST 8 S & | S e 37Y 7 B e o e B
L o . . . Status : Answered
When iron is exposed to moist air, a reddish brown coating of hydrated Iron (IIT) Oxide
(Fe,0,) is deposited on its surface. This reddish brown coating is called: Chosen Option : 4
Ans FﬂET
X
iron
Harnrg
P}
X 2
alloy
K3 ©
dust
« 4. 1<
rust
Q.52 3x2 + kx + k = 0 & HE FATT ar k & A= et J O
R 35 + b = e Question ID : 9864494586
B % @R grem?
R ° _ o Status : Answered
If 3x* + kx + k = 0 has no solution, then the value of k will satisfy: Chosen Option : 1
Ans 1.0 < k < 12
K2k >12
Xak>-12
Kok <12
Q.53
Question ID : 9864494336
Status : Answered
Chosen Option :2
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Select the option that represents the number of squares in the following figure.

Ans x 1. 32
v 2 30
X316
X 4 64

Q.54 w7 9N wgd # e A w1 e faer gfavd (% e T aw quiitee) 7

AW | ATEEN | AR | TRew | e |
T %
A 200 150 |50 -
B - 200 | 100 |66.6
C 150 50 100 |-
D 120 - 90 25
The total percentage of illiterates in all the four citiesis _ (round to one decimal place).

City | Populat | Liter | illiter | % of

Question ID : 9864493845
Status : Answered
Chosen Option :2

ion ate ate literate
A 200 150 50
B - 200 100 66.6
C 150 50 100
D 120 - 90 25
ans X 1.44.5
X 2443
X 5 44.1
v 442
Q.55 IFd F 9§ AT § fSEE 92% Fer g § AR 9w 8% F Wée,

@A, gAfF, Ta=A Jor 3= gy 8y #

is the liquid part of the blood of which 92% is water and the remaining 8% is
proteins, minerals, hormones, enzymes, and so on.

M, TE TFT HURRT

WBC

v &) 7

Plasma
| T ColcolcH
Blood platelet

, ©ITel T HivtehT
RBC

x

x

Question ID : 9864494946
Status : Answered
Chosen Option :1




Q.56 37 faeheT #T =T HL Fr A= & ﬁ%ﬂﬂﬂgpﬁj%l alert' In Question ID : 9864495047

L

3K

117

A

B C D

Select the option that will come next in the following figure series.

L

A IE:

Ans x

Status : Answered
Chosen Option : 4

Q.57 5442673314884743581.% & &, dg 3ic 4 & Hidhs, ol 3T g5 HR I9RYT 3iF F

of w7

In the series 5442673314884743581, the number of 4s that are completely divisible by the

number

Ans x
v
<

¥ fyferT g1ar & wig 386 o HR] 3uferd s ¥ faenforg = @ &,
-

on their night but not divisible by the number on their left 1s:
1.2

2.1

3.0

K43

Question ID : 9864495128
Status : Answered
Chosen Option :1

% 7 FUS (tendon) FFEH ST AT Y
A tendon is made up of:

Ans

v

X2

K3

X4

) ol Flol=led BISa
only collagen fibres
AR T2 Fde wEaT
| elastic connective tissue fibres
e 3l 3R Tl 0 v
. inelastic and elastic connective tissue fibres
e goish 30+ wEs

inelastic connective tissue fibres

Question ID : 9864493155
Status : Not Answered
Chosen Option : --

Q.59 3 % oo F 3R, e & ¥ Fi @ FUa 77 82

According to Ohm’s Law, which of the following is true?

Ans x1_

ol R # varfed @ arelr gy amr f A AR F Sy & AT

gt &

The current flowing through a wire is directly proportional to its Resistance.

X2

Question ID : 9864494696
Status : Answered
Chosen Option : 3
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TYHATIT B 8l
The current flowing through a wire is indirectly proportional to its length.

< 3.
e ar & warfea g Al o #r AT AR F A & mew & feEea &
SFA B &

The current flowing through the wire is indirectly proportional to the Potential Difference
applied across its ends.

o 4
el aR # waled @ Al Hegd O #F AN AR % A & e %
Tasateey & FAEAET gl 3

The current flowing through a wire is directly proportional to the Potential Difference
applied across its ends.

Q80 7 7 FrgeT wfdea 18 = &2

What percentage of 1 day is 18 minutes?

Ans X 1.1.8%
v 2.1.25%
#<312.5%
x4 75%

Question ID
Status

Chosen Option :

19864494856
: Answered
4

Q.61 v & safe & Ais[g 3y FEts difernr dedl H @ # ¥ 741 #A=
anm:

In the Modern Periodic Table elements present in the same period will have the same:

Ans
X 2 '
atomic number
v, T i wE

number of shells

WHIUES IR

atomic weight

434ul£r1121’m?ramm

X3

Question ID
Status
Chosen Option

19864493513
: Answered
1

<
valence electrons
Q.62 L s
gl W FTIAH FolaEe oydl dTel dcd et 82 Question D : 9864494624
The element with the highest electron affinity among halogens is: Status : Answered
Ans x 1 | Chosen Option : 3
X 2. Br
Vs Cl
X4 F
Q.63
5041 T T T =T £2 Question ID : 9864494513
. Status : Answered
What is the square root of 50417 Chosen Option : 3
Ans x 1. 69
<281
vl
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8 grsfawe oifg & @ e i 02
The Brownian Motion was discovered by:

b ! ST F3A
John Brown

x , Tt e

Isaac Newton

HET §13

Mandel Brown

W 4 e 33
Robert Brown

Ans

K3

Question ID : 9864494617
Status : Answered
Chosen Option :2

Q.65 16% @Mt & WY TF IE] H AT Fed T 4359 I I # T 330 F a0
ST @ gl gieRE faer gar?

The selling price of an item inclusive of a 16% profit was ¥ 435. What would be the
percentage loss if the item was sold for T 330?

Ans X 1.12.5
X 2.12.25
< 313
v 12

Question ID : 9864494518
Status : Answered
Chosen Option : 4

A% srEgfoa Terfes FHEIT S FT Ha AT 6
An unbalanced chemical equation is called a:
| e T FEe
skeletal chemical equation
X2 ;
natural chemical equation

x5 I TSR THISOT
rough chemical equation

x4 Sfear Tarafas THEI0T
complex chemical equation

Question ID : 9864493329
Status : Answered
Chosen Option : 4

Q.67 == Fr 3T AT F1 o A Sar g, a g =ura=E 9 #r
ofrar T & ¢ i i afer O #r sEafy w4 B

‘When large quantities of are consumed, it tends to slow metabolic processes and
to depress the central nervous system.

Ans ST

K1

| Propanol

Butanol

Question ID : 9864494982
Status : Answered
Chosen Option : 3
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Q.68 =7 &% wferrer ﬁﬁmﬁﬁ;ﬂmqﬁg%wﬁgﬁoagggﬁgu
FHEAFAE

‘When a number of resistance are connected in
than the smallest individual resistance.

F ! AT
horizontal

X2 g
box

Aufr

series

their combined resistance is less

Ans

X 3

+

4E AT

| parallel

Question ID : 9864494955
Status : Answered
Chosen Option : 4

Q.69 Rw v FafdT oeg & SIS % HUR R HIEAS 2Weg H T H

COULD: BNTKC :: MOULD :

Select the missing term based on the given related pair of terms.
COULD: BNTKC: MOULD:_

#< 1. LNKTC

# 2. NITKH

& 3. CHMFI

v 4+ LNTKC

Ans

Question ID : 9864495101
Status : Answered
Chosen Option : 4

Q.70 FEr 7 HENTST 528t FrediRr AR =FH TAARar st arer 5oq7
ARIT Fi §2

‘Who was the first Indian to win the 52°¢ Capablanca Memorial Chess tournament at Cuba?
1 % HMprd
K Srikanth
v &) f
Krishnan Sasikiran
Pentala Harikrishna
x ., AT AR
Adhiban Baskaran

Ans

Question ID : 9864494470
Status : Not Answered
Chosen Option : --

Q.71 AW 1 A=A 25 e, 2015 T I AT, Hefeh HEAT HT 5=/ 3HH 554 feT
mg&rrmma;rmmmﬂ'@ﬁ'@nm?

Arzoo was born on 25% January 2015, while Aastha was born 554 days later. On which
date was Aastha born?

2 33TEd, 2016
" g August 2016
3 391Ed, 2016
" 3 August 2016
_137TFd, 2016
1t August 2016

Ans

Question ID : 9864493014
Status : Answered
Chosen Option : 4
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X 4 =
31t July 2016
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Q.72 v gE=T fegs ABC & HAFIUT B W &, 3 tan A=T 31 AR AC = 25
Tt &, & BC #r dars e 12

A right-angled triangle ABC is right-angled at B, and tan A;:. If AC = 25 cm, the length
of BCis:

1, 18.75 WX
18.75 cm
v 20 FEI
20 cm

33.3 HART

333 cm
x 5 24 TEHeT
24 cm

< 3.

Question ID : 9864494847
Status : Not Answered
Chosen Option : --

Q.73 yAlg 12 el & EAR W A T HT Tl § Fafh a1 16 Tl 7 7ff dan
T WHET T TEAT & | AG TAIG 3N o a9 F W § 9 AN W A%
e & 3N 99 9F W& F 96 T FE UH-UH B F U F G § A9
T AR q¥ 9T W AT T A A B S, A U QAR A AT T B H
fohd=r g w9 ?

Pramod can paint a wall red in 12 hours while Brajen can whitewash the wall completely
in 16 hours. If Pramod and Brajen work alternately for an hour each starting when the wall

has just cement on it till when it is completely painted red, how many hours will it take to
paint the entire wall red?

ans X196
X2 48
v 89
X495

Question ID : 9864494539
Status : Not Answered
Chosen Option : --

Q.74

70 20 50 85
55 80 95 60
60 20 20 40
90 80 40 65

N-<><§§__ﬂ_

& 712 diferr IR BwAt P, €, B ik M A s o=t W, X, Y # Z g3
e 3R w1 afafElEeT w2 31 90w faww d sfdsas 3w 100 &

fEw aTT Hiewst & MR W, W F P, C 3t B & faemet fraer wfoee 30 &

Stw/

P C B M
Sub

W 70 90 50 85
55 80 95 60
60 20 20 40
90 20 40 65

N

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C, B and M, with the maximum marks in each subject being 100.

Based on the given data, W’s marks percentage in P, C and B combined is:

Ans x1_ 72
< 2 B8
< 375

Question ID : 9864494750
Status : Answered
Chosen Option :2
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Q.75 fu 7w Fue W AR # AT 7 77 T F a9 v T 9 ST FEwE we e
diffed ¥ ¥ IFTROT HAV B & Question ID : 9864495145

Status : Answered
FUA:

s 4 R 3t o e et @ SR F § A R 3 s ate
J IaTd LT B

Chosen Option : 3

AN R S AT S

1. Rrewet & forw fReor $1 a9l TGt 9qow og stafaas e s @i

2. sgfaw aliel & el A R & e ada afz el @iz

Consider the given statement to be true and decide which of the courses of action logically
follow(s) from the statement.

Statement:
Teachers in India still teach using traditional methods and are not aware of modern
methods of teaching.

Course of Action:

1. Orientation should be done for teachers to change their method of teaching.
2. There should be a pay hike for teachers who teach in modern methods.

Ans hael 1 HTEROT &l Bl
e

| Only 1 follows.

| 1 31 2 gt ST F §
Both 1 and 2 follow.

AT E 2 AR H

x

x

Neither 1 nor 2 follows.

heel 2 HTEUT Ll B
K4

| Only 2 follows.




